Kaleidoscopes-Exploration Prisms-Math Vitamin
Egads! Jonathan has been pushing numbers on Alex's security system
like crazy and the machine is out of control, spitting out numbers
as fast as he can put them in! For instance, when Jonathan pushes

a 2, out pops a 5. When he pushes a 3, out comes a 6.
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Is there any reason to this madness? This time Jonathan figures
out that the machine has been adding 3 to each number he pushes.
Each time Jonathan exits the spaceship, it resets and he must figure out
the new rule. Come get data from a teacher and see if you can solve the
rule.
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